07% (F 2 §REfp %

112 #

£+ ¢ b B 3 3F

1 ®

+ ¥k
;

=

LT cEs =
E o] B S
mam : .
5 Sk ot % % fx T(TWD97) 1y
L Em FTy X:266023 Y:2662043 #289] Ay
KEH £ %12 E(WGS84) AEH
E:121.15756 N:24.06330 .
Bas < : A
WA ¥ 0C
Euy 5 A
a {
__BuR i,
Rafpt
$
e

112 #+ ¥ %h -3 3K =€-001

M 15 BR—{—EMAXEH

4 & £ 5% (CL1430)
(2 FmENAEE 300mm) 4
,

L]
08/04 0825004 i 455 4 5 1 [
(R=221mm ~ I=42mm/h) _\ ’

&

@ =EE
o EURBREFERER)

coo0o0o ococoo
R0 R NN 555

NOOOOORHHRERIENNOOOOORMHMHEHHENNOOOOGOHM M IMKREENN
WS W e EWNOEWANOEW
R R R R R R R R R R R R R R R R R R R R R R R R E2ER22RERS

SKEBENME : 1% 89 4R 49K
K EANRE 08 B 04 B 08 i 00 7
S SEEIEAL © FRIFH(LLAR - PEd)

SKEREZEWRERE : 221mm

1l %A B MBTHE AR —AF 2 B LR
EF R X FN

M2 A GUEM, T e 0 RIS B
IPHPLkTE

E3IBAPFRTARGERE o

WA ORRAERD L R EL LY .
2511 P AEA AR ELE I ERE AL 2
BAGERL DL EN KRG

S SRS ¢

VBRI 1% 89 AR 49K IR ESMEE 5 E 2 FF A AR PER - SRR RERREM - WE
EMERSI - AETWHBERNEREREWET - JUBERBRNEE - MERERIER
AR - WHERE B RELRS -

vIKERE | 1 REABBERY 50 AR - B 20 AR - WEA 1,000 FHAR - FERHRE
K1 AR BSEEE4 1,000 315 AR ;2 SEERIBEE R 250 AR - BH 40 AR - ETEA) 10,000
FHEAR - FHERREN 1 AR  BHE584 10,000 IH AR ; 3 A RSEERA 20 AR
BA 60 AR - ETEA 1,200 FHAR - FHBBFREN 2 AR - FIBERK 2,400 IHAR ;
MR ERSAY 13,400 I H AR - HRSEERA 20 AR - BH 60 AR - HE#I 600 FHAR
TIOHEREN 2 AR - HEEIRK 1,200 U5 AR -

VIEmE  BREERAREN 5 AR -

2588 b

&3 od B Uk

B ) B4 3

)
- | »
2 [» i 80




